EARAROBEEIERT — 2 N— IBISH —F

2017510880 (H) 8EIEERSH

mﬁiﬁﬁﬁﬁ g b1 C1—# 7% —% ‘ [Xfg] B ‘ [EmhE]l — | & () 16000 FE
[xE£] 1 %:260,000 3  2#%:52,000” ~ 3#%&:26,000MW ~ 43#%:19,000 ™  53#&:7,000H
B BB mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- EATE 141, = . — HHEEZ (BE
1178 T4 7 5'_]6?) 1(4&)3 2-2 38.8 5 (5‘:24) i
R4 >N=h )= B:770-XT757— [QCRDE e ]
. EiaiEE 141, = . - SEAREER (KR
2|8[10( 7171742 R F5 N Ve | s
XL ThANAN BehNSTU=T4 ARETa—T7—L
— . BRERE : = - NARE  (KR)
3lglg|7 1Ll # 5 o 1.(411>.5 3-3 38.8 6 :?36) %\#Uﬁi 7
Ln—ErYv— B:/yhhIT7EYZRZR HET7—L
. s= s AN EE ; - - =ZFHEE (KR
B2 ooxaovess # s | A o B EX I I e R
R:F1—TZ2h14 B:E451—- #RAEHE IVFCTr—L
N . LI ARER & 41, - . - 1EREE— (GR)
5 gl B EAF =2 v > "0 56.0 1(14/12>7 o %0 ? (i:?) Fitt—Z ’
LNAT ==L B:443-<U—-> Ellb e ]
6l1l1 |7 F®IY¥T1—N 4 ﬁﬁ%kﬁ— 1:(432).2 77 31| — | 3 ?_2;) ;{EEE (B4f)
L:ZFA4d—I K B: 7RIz b J—HrTp—L
. N . KR . - — =gt (KiR)
707l 7| 7> R2 A=Y > 5 =0 (12412/26) 9-8 38.5 10 ::tss) s
a4 ¥ v MY B:Jr—FZX30=— (AYiorie]
gl 3| T AA IR 73 | A 720 56 (397 — | 9 ?f:) Bl (AR
R:Fa2524) B411FKRE> JkE @
s /R 143, - . — BEAS (KR)
9/5|5|X2—T1v>a SR e ) a2 10710387 ’ 3214) TEA—
L:vn7x B:TIA4E4NT =4 TADAS
N N AR 143. — . - EHEE= (R
10 6l7t—Tor—<> H o4 A 1(443)9 6-9 40.7 7 (4+3:) b
L:Z2v—bR—o BHI-—TT742X—-> 75 Kits
® 1 — @B
13—7-—
2a=5"=
== 10,8,9,4,3,6,1,2,7,5
43—+ — 10,8,9,4,2,3,1,7,6,5
[ /N
B 8 910M 714K 8-10 410 B 7-8 840 JEE 8-9-10 3,400/
B B 8 290H 8-9 1,050M B & 8-10 1,350 JEE 8-10-9 19,620
10 120M4 9-10 780M B E 8-10 2,740
9 260

ABICOVWTRDTEEERROODE. TR LIV,




